Reverse Percentage Problems

a. Thn a gale with 2(% of€ o coabt s fn'e.eo! at €48

Whet wa¢ the pr,‘ﬁ.‘n’“l price before Ehe sale ?

Orisinul Price % 0.1 = 443

So £48 - 0-7S- - Ol'oisn'm./ Ph'ce

b. A-‘fcr.lofinﬁ IS'Z o€ hi¢ wm‘akb on & Jn‘cé) 4 man

we_i:\\kezf 63 kf)- What was hig oriﬁina( ue‘ﬁ"‘l’?

Oriﬁ.lnk{ N(ftd"l{' X 0.8¢ = égkj
So ézkﬁ - 0.8 = offﬁ'\n«' we.‘akt-

68 kg % 0.8€

20 k'ﬂ

C. A televigion I¢ priced at £288 jnclusive of 20 70 VAT

What 1t the price exclusive of VAT ?

Ex VAT price x 1,20 = £288%
g0 1288 T 1).20 = Ex VAT price

£2838 < )20 = £240




d. Afte . S’Z Pm3 rise John had «w mefltx vabe of P“j

of fé.7l_ What wat his prevfaus l\ourhl rate of '04\3?

Previovt rate x l.OoC = £6.72
Se £6.7L = ).o8 = Previout ratbte

£6.72 > 1.6058 = £4¢(.40

E% Qreife

I

~

A wockferce s redveced L‘J ;Z Eo 437, What voas Ehe

Previevs Size of the vorkborce ?

2] Inchdting 205 VAT « television corts Z420. What it the
ex ~VAT price ?

3] 442 seldiers complebed their Erminig covse . T# 1S4
olrowul out) how many beﬂqn the covrse ?

M, A coat is priced at £42 w a gale with 28 £ of€.
What was the Pr»‘c_e ot the coat before the sile?

5] After o 1Sl price rise a cyele it €174 Wit

was Ehe prioc Lmﬁm the price g 7




ADVANCED USE OF PERCENTAGES E XERCISE

. Oriioal —2SA = £42
Oné\]"nn' X 0.7 = f£47
So £40L L 0.15 = 0115 cnue |

242 -0.75 = {5‘6

CLoat way or.ﬁ-.u(l-1 ‘éfé

”_ \Jork—&w(( VcJuceJ 53 SZ 654«37

) Og. 0/|a;—|u‘ + /gﬁ o~ é/?4
Ocigil x 0.45 = 437 _
OII5;-";, x (A = £ig¢
o 437 < 0.4% l'orisf-m'
o €184 2118 = 4|Lo
A3 — 0.45 = 460
) | Cyele wat °r"‘0""‘l(3 £lto
Originul workforce = 4o

H

12. E«.—Vﬁfrprice + 204 = L4720
Ex-vaT prie x .20 = £azo

So Z420 = 1,26 = En-VAlrce

els

L4260 2 120 = £150

Ex-VAT price = €350

13, Oérgin “I1ISA = 442
O'lamk‘ x 0.8 = 4470
Se 447 —0.8V = or.‘ﬁ..k..l
441 = 0.8C = S0

§20 soldiess stated covne
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424,0 I'Z_O}a »F OAS""“

£24D é4.o = 20 /.
6 i
tho xS £ 2o S (oe/

A Col.,'(’ ;l-\ a 54.(3 \.J:"h\ 2 r /D b’F(
coiste A4z, WhiF v pre-clle proca

Lag = 7S/
24833 L1 = 25/
%((94_4’ %é(l’ - (oo ﬂ

EKan Ques(’w-«_

Alf{a—w LUJJ o Cou—pote/
20}& VAT (§ edf e A 4 (/l'g.o_

Alaw @nqs Laoo
weske oot (sz’c_L_ be-é'/z_. V447' as add et

4900 - lZ.o/,
100 41¢o0 = Y6/,
é

Lisocs £¢7s6 = )0/




